Adda247

! Professional
Bb SrOMANQHCN T earor auT $Y R fyum 7. 7. Wure & siwfa amfior piy Rear e (srduiltie) Ta ol o frem sl (erfufie) e g wdff ol - 2

board

View Your Responses/ Complain About Question/| View Complained Questions/
3o+t wfafsanait 3@ HaTd & IR A Rrwrad s Rreradt gy T

Roll No.

Candidate Name

Exam Name ! KKR-P2 v

Test Date :12/11/2021

Test Time :Shift - 2

Center :Ratlam - 3 (Srajan Institute of Technology,Managment & Science)

Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Minimum Support Price (MSP) was introduced in India in which year?
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1969
1975
1965
1962

Which enzyme is responsible for the ripening process?
polygalacturonase

glycophosphatase

lactase

phosphatase

The lowest common denominator of a test is otherwise called:
Base
Item
Stem

Root

Red and Far-red light absorbing, bluish photoreceptor, which is present in the cytosol of plants, is:
Cryptochrome

Chlorophyll

Carotenoid

Phytochrome
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For regular bearing in mango which chemical is recommended
Paclobutrozol

Mancozeb

Cycocel

GA3

Variable costs are the sum of..?
1. Marginal cost

II. Fixed cost

III. Average cost

Only II

Only I

Only III
All I, IT and III

.No: 7 Blue - green algae grow best in:
Jute
Lowland rice
Sorghum

Upland rice

No: 8 Which of the following model describes translocation through phloem?
Pressure flow model
Phloem unloading model
Phloem loading model

Sucrose flow model

.No: 9 Plant growth regulator used for fruit thinning
C2H4
IAA
NAA
GA3

.No: 10 | Which of the following fruit is not suitable for jam making?
Anola
Lemon

Mango
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Banana

Which among the following hormone, is transported in polar manner and also requires carrier proteins?

Auxin

Cytokinin
Abscisic acid

Ethylene

The wild growth of is checked with Cochineal insect in Australia

Aphids
Screwworm
Eichhornia

Opuntia

Which of following is a cash crop?
Tea

Wheat

Rice

Sugarcane

Chlorosis in plants is caused due to deficiency of
Ca&O

B&P

N & Mn

Mg & Zn

Opportunity cost is-
Cost of supplementary enterprise
Cost of production
Cost of cultivation

Cost of next best alternative foregone

Criteria of essentiality by given by:
Arnon

Jean Baptist

Liegbig

Tealim Van Cionbknan
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Q.No: 17 Participatory plant breeding (PPB) is what type of program

A

Q

o 0 w

Q
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.No: 18

.No: 19

.No: 20

.No: 21

.No: 22

When farmers are involved in a crop improvement programme with opportunities to make decisions and contribute to
the research process at different stages

Crop improvement programme in which farmers need to take permission to produce stress resistant crops
Crop improvement programme in which farmers contribute only in research process at different stages

Crop improvement programme in which farmers get opportunities to grow crops of different varieties

In area of hill slopes soil erosion can be controlled by-
Strip cropping

Linear contour ploughing

Step farming

Deforestation

Which among the following revolutions is related to ‘fertilizers?
Silver Revolution

Pink Revolution

Grey Revolution

Golden Revolution

“Devine” and “Collego” are two agricultural substances work by producing toxic compounds that dissolve the cell walls of target
Bioherbicides

Chemical fertilizers

Pheromones

Insecticides

Fertilizer use efficiency in transplanted rice is
75%
85%
25%

50%

Active soil forming factors would include:
Time and vegetation
vegetation and climate

Vegetation and topography

Time, topography and climate
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: 23 The plantation in a huge manner to prevent soil erosion against wind and severe weather is called-
Shelter Belts
Contour Farming

Strip Farming

Forestation

: 24 Microbial decomposition of organic matter is called:
Vermicompost
Humus
Biofertilizer

Manure

: 25 Which of the following is the smallest order of class insecta
claroptera
Coleoptera
Zoraptera

Hemiptera

: 26 | Self-incompatibility does not exist in which mango variety
Mallika
Chausa
Langra

Dashehari

: 27 | Attitude scales are used to measure:
Judgement
Fact
Reality

Opinion

During the process of photosynthesis, O» 1s evolved from H;0. This fact was experimentally proved
128 o

Joseph Priestley

Jan Baptist van Helmont

Melvin Calvin
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Ruben and Kamen FaH 3R BT
Nitogenase is an important enzyme for nitrogen metabolism and catalyzes nitrogen fixation.
However, it is an oxygen labile enzyme. Which of the following protects nitrogenase from HE@GFT Tereifasd & e Ageoms U6 ﬂ%ﬁ'{ﬂf IR § GﬁT:ﬂg'cﬁTrFT RRITRU % IANT F2am 2 g, I8 T SHTRieH faad IERS B Frafifed # 9 o -
oxygen?
Leghemoglobin AEHA
Nodulin Mgl
Ammonia s
ATP ATP

The debts which are to be repaid within a short period (a year or less) are referred to as:
I. Current Liabilities

I1. Fixed liabilities

III. Contingent liabilities

All I, IT and III

Only I

Only II

Only III

Which sprayer is used suited for spraying operations in kitchen garden
Rocker Sprayer

Hand Sprayer

Hand Pump

Knapsack Sprayer

The seed rate for summer mungbean or greengram is
35 - 40 kg/ha
30 - 35 kg/ha
10 - 12 kg/ha
20 - 25 kg/ha

Approximately what fraction of India's total edible oil demand is met through imports?
30%
20%
50%
60%

“Economics is the Science of Wealth” who gave this definition?
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A Robbins
B Marshall
C Adam Smith
D J. K. Mehta

Q.No: 35 Soil quality is generally enhanced by greater.

Soil structure

B Soil texture
C Water holding capacity
D Organic matter

Q.No: 36 The new name of VLW is :

VEO
B VDO
C Ccbo
D VDW
Q.No: 37 Generally maize produces number of internodes
A 18
B 14
C 20
D 10
Q.No: 38 The first state in India to introduce Training and Visit system was :
A West Bengal
B Rajasthan
C Uttar Pradesh
D Bihar
Q.No: 39 Buffering capacity of soil means resistance to a change in:
A Soil pH
B Base saturation
C Soil microbial activity
D Soil acidity

Q.No: 40 Some plants fulfil their nitrogen requirement by catching and digesting flies and other insects. Such plants are categorized as:

A
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O 0O w

Q.No: 45

o 0w

Q.No: 46

Carnivorous plants
Parasitic Plants
Omnivorous plants

Hemiparasites

ICAR - sugarcane breeding institute is one of the oldest research institute and is situated in
Kanpur, Uttar Pradesh
Hyderabad, Andhra Pradesh

Pune, Maharashtra

Coimbatore, T fInad

Stomach poisons have gradually been replaced by synthetic insecticides, which are less dangerous to humans and other mammals

calcium arsenate

rotenone
naphthalene

chloropicrin

Soil fertility does not depend on:
Biological condition of soil
Physical condition of soil
Chemical condition of soil

Climate

Which statement is not true about aquaporins?

They are located in both the plasma membrane and the tonoplast.

The water movement through aquaporins is always active.

The abundance of aquaporins in a plant cell varies with environmental conditions.

They facilitate the movement of water across membranes.

Farmers can prevent and slow down soil erosion by
Plant crops, plants, etc. to hold the soil in place
Cut down all of the trees and crops.

Water the soil everyday in order to way it down

Cover their crops with a tarp

Which soil is developed in areas with high temperature and heavy rainfall?
Black Soils

Red Soils
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Q.No: 47
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Q.No: 48
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B
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Q.No: 49

O 0 w

Q.No: 50

Q.No: 51

o 0 w

Q.No: 52
A

Laterite Soils

Loamy soil

Viral disease transmitted by seed is
Die Back

Psorosis

Exanthema

Canker

The Effect of kinetin in delaying senescence is called as:
Richmond-Lang effect

Richmond-Thimann effect

Wickson-Lang effects

Wickson-Thimann effect

Which among the following is not a key response shown by cytokinin?
Cytokinins usually promote the elongation of stems
Cytokinins stimulate axillary buds to grow into branches
Cytokinins delay the senescence of leaves

In cell cultures, a high cytokinin-to-auxin ratio promotes the formation of shoots

What is called for the mature soils which are arranged in a series of zones?
Soil layers

Soil zones

Soil horizons

Soil benches

Which is the most effective and piratical way to raise the PH of acid soil?
Calcium phosphate

Lime

Phosphorus

Calcium mono hydroxide

Age, Sex and caste indicate:

Class status
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Achieved status

Social status

Ascribed status

Who has given scarcity definition of economics?
Robertson

Adam Smith

Marshall

Robbins

Best time for sowing deep water rice is
Mid June

Mid July

Early August

Last week of June to first week of July

What is India's rank in the global groundnut production?
Fourth

Second

Third

First

The third tier of Panchayat Raj is:
Block Panchayat

Panchayat Samiti

Gram Panchayat

ZillaParishad

Vinegar concentration should not be more than
10%

Which of the following is the post harvest physiological disorder of mango

Sap Burn

Internal Necrosis
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Q.No: 62

O 0 w

Q.No: 63

O 0o w

Spongy Tissue
Black Tip

Freedom from variable errors is known as :
Reliability

Sustainability

Validity

Credibility

Pusa hybrid 4 is a variety of:
Banana

Potato

Tomato

Brinjal

“Economics is a science” the basis of this statement is
I. Relation between cause and effect
II. Deductive and inductive method for the formations of laws

III. Experiments
Only I

Only III

All I, IT and III
Only II

In India, Tank irrigation is more common in which of the following regions:
Arid and Semi-Arid regions with scanty rainfall

Coastal regions with regular rainfall

Rocky plateau regions with uneven and highly seasonal rainfalls

Regions with presence of perennial rivers and plenty of rainfall

In India, which type of maize is mainly grown
Dent Corm

Sweet corn

Flint Corn

Waxy corn

Q.No: 64 Most predominant cropping system in India is
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12/19/21, 9:54 A
A Sugarcane - sugarcane
B Rice - wheat
C Arhar - mung
D Rice - rice

Q.No: 65 Which of the following is not a category of seeds?

A Foundation seeds
B Certified seeds
(o} Edged seeds

D Breeder seeds

Q.No: 66 Broad-spectrum Insecticide obtained from neem plant is

A Malathion

B Azadirachtin
C pheromone
D Pyrethroid

The Nobel Prize in Physiology or Medicine 1948 was awarded to Paul Hermann Miiller for his discovery of which high efficiency

Q.No: 67 contact poison against several arthropods

A Pheromone

B Malathion

(o} Pyrethrum

D DDT

Q produced, and not by the genotype of the pollen” was first reported by .... in parthenium?

A Gerstel, 1950. TR, 1950
B Babcock, 1950. J§PI®H, 1950
C Meldal, 1950. #esd, 1950
D Hughes, 1950. TGO, 1950

Q.No: 69  Which types of soils have maximum amount of water retaining capacity

A Mountain soil
B Regur soil

C Desert soil

D Alluvial soil

Q.No: 70 The process of introducing, stably integration and expression of foreign genes in the plant. produces transgenic plants and is called-
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A

B
C
D

, 9:54 Al

e

Single cell hybridization

Gene expression
Genetic transformation

Transcription

Q.No: 71 Which pesticides are non-biodegradable and also called recalcitrant pesticides

A

B
C
D

Q

O 0w

Q

O 0 W

.No: 72

.No: 73

.No: 74

.No: 75

.No: 76

Organochlorines
dalapon
Triazines

malathion

Black soils are black in colors due to humus, Iron and
Phosphorus

Nitrogen

Sulfur

Aluminum

In the confusion technique pheromone coated paper strips are thrown over an area to
confuse male female insect both so that they are unable to locate each other
confuse male insect to repel

confuse males insects so that they are unable to locate female insects

confuse female insect to repel

Which of the following is the best fertilizer for basal application in paddy puddled field
Calcium Nitrate

Ammonium Sulphate
Di-ammonium Phosphate

Urea

Which is not a trait that should be incorporated in a crop plant?
Increased yield
Resistance to pathogens

Decreased tolerance to envir tal str

Increased tolerance to insect pests

What is approximately share of India in the global agri-trade?

9.0%
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8.5%
2.5%

4.5%

Which of the following is not communication process:
Encoding

Source

Meetings

Transmission

Optimum seed rate for pigeon pea or red gram is
25 kg/ha
15 kg/ha

20 kg/ha
10 kg/ha

The variable cost is a component of total cost, another is
I. Marginal cost

II. Fixed cost

III. Average cost

Only II

All I, IT and III

Only I

Only III

The main aim of plant breeding is
to control pollution

to become more progressive
to produce improved varieties

to make soil fertile

Which theory is generally included under micro economics?
I. Price Theory

II. Income Theory

III. Employment Theory

Only III

Only I
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WHT I,II SR III

Only II Fad II

The genetic material leads to production of sterile hybrid on crossing with primary gene pool is called- e S U % 1Y BRI B TR AR T ¥ Sig YhR BT Sae eIl ¢ o1 Bgl Sl 3-
Primary gene pool i S g@

Tertiary gene pool ﬂ'cﬂTWT g qa

Secondary gene pool a1t i ga

Gene expression S siftreafa

What is the main purpose of buffer stock in India?
To provide farmers a place to save food grains
To increase the productivity of food grain

To reduce food price fluctuations

To save food grains from environment threats

The naturally occurring contact insecticides developed from tobacco

DDT
rotenone
nicotine

pyrethrum

Arrangement of soil particles is referred to as:
Soil organization
Soil texture

Soil structure

Soil profile

Seed rate required for transplanted pearl millet is

URA T TR Tieb BT BT ST T 87

framt & Rig @ Tam Bt STE U HRAT
QTS @ STl qgiT

| Fdl A JAR-TST B FH BT

ST HY TRl & Rl & F=HT

a1 ¥ fIwRid i ¥ & U 91 a1d YU e
HHAH

RiCiEIE

IRCaCIE]

Y

S & BN P oG B YT oAl §....
gt ot sgawan

gt &Y seTae

gt &t

gt 3 wiwrsa

oR BT AT P BT e ST B SMawTd R Al &

1kg/ha 1 fem/RR™

10 kg/ha 10 fFn/dR®W

2 kg/ha 2 fHu/TRWw

5 kg/ha 5 fopun/RuR

Which of the following is a difference between chlorophyll ‘a” and chlorophyll *b". Fofied &  $ FaRifhd 'a' 3R JARMGA 'b' F & 3R I i 8|

Chlorophyll ‘a’ has methyl group at II pyrrole, whereas Chlorophyll ‘b’ has aldehyde group at II pyrrole FARIPE 'a' & II UIAa W g W4 81 8, 9efd FaRifbd 'b' ¥ ufseiss 94 II UIsd W el 8l
Chlorophyll ‘a’ has 4 pyrrole rings, whereas chlorophyll ‘b’ has 6. R 'a’' # 4 T”Re &1 ﬁ% %', STafe FRIPpd ‘b’ # 6 3’@ %I

Chlorophyll ‘a’ has Magnesium ion in the centre of porphyrin ring, whereas Chlorophyll ‘b’ has Calcium FRIfhd 'a' § GifhRA f1 & $g & HHlkrw ema grar ?, wafe FRIfpe ‘b’ # Sfekraw grar %I

Phuvtal tail of chlaranhvlil *h’ is shorter that nhvtal tail of Chlaranhvll *a’. FEARIBE 'h' B BEad 26 ARG 'a' B BIEad o) [T 7t B
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Q.No: 88 Apomixis is a form of asexual reproduction that occurs via seeds qc?rfhﬁw 3 TS BT b =0 % S Sl & "1 g ﬁ?ﬂ %
A In which embryo develops with fertilization R e & Wy yor R g @
B in which embryos develop without fertilization R yor fa=r e & faeRe g o §
C In which a plant develops by macropropagation forad T e AT gRT e gar @
D In which development of plants is by vegetative propagation. Rred e yada gr dal @1 e gar @
Q.No: 89 Optimizing the use of farm resources on an individual farm level. It is a fopddt fow @H/W?WW@WWQ? JUGRT BT AP B TH ... gl
A Agricultural marketing @'ﬁ fago=
B Production economics Jaare iR
[ Farm management Qd/ B geuT
D Macro economics TufY srdema (A g AITHE)
Qo 90 173 s ofgree 1 slar o chnge e geaic ke of el e ST et 1 s S, e e e
A Genetic drift STAfRIF dgTa
B Gene flow CIECHE]
[ Gene fluctuation 9 ® SdR-derd
D Gene modification S =i
In case of fixed cost unit the quantity of output is measured..? TN 3T & FRR §H W SdTeH Ft W1 BI AT ST 2.2
I. On the horizontal axis 1. & oty R
Q.No: 91
II. On the vertical axis I1. SRR e W
III. On the cross axis 111, 1 378 R
A Only III Fad 111
B Only I Faa 1
C All I, IT and III [aft 1,11 S8R 111
D Only II Fad 11
Q.No: 92 Continuous heavy rainfall leads to the formation of: AR U o Bt Ioig § et fmfor gar 32
A Sodic soil aifs® frdy
B Acid soil 3ty frdy
C Saline soil aquity firgh
D Saline - sodic soil aquitg - Aifs® firgh
Q.No: 93 The smallest unit of content analysis is: e oo Ft w99 B 5 §:
THamec ATEAT
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Q.No: 99

avcins

Characters
Theme

Words

In which climate soil develops slowly?
Windy season

Summer season

Cold season

Rainy season

Which among of the following is bottom up planning:
Coast sharing approach

Community specialized approach

Training and visit system

Farming system approach

The another name of acid or alkaline soil which is used to designate hard and intractable soil is

Bangar

Khadar

Regur soil

Kallar

Light-stable synthetic pyrethroids, which is registered to control mites
Monocrotophos

Malathion

Cypermethrin

Toxaphene

‘White Bud’ of maize is a deficiency symptom of
Iron

Zinc

Phosphorus

Potassium

Deficiency of several elements is exhibited first in the apical region of the growing part due to their:

Tonsankhila mabien
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12/19/21, 9:54 A
A 1nnmvpne naware
B Mobile nature
C Autolysis
D Translocation

Q.No: 100
A

B
C
D

Q.No: 101

O N0 w

Q.No: 102
A

B
c
D
Q.No: 103
A
B
c
D
Q.No: 104
A

B
C
D

Q.No: 105 Fundamental Duties were inserted into the Constitution of India by which of the following Amendment Acts?

A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/kkr_candObjection/ViewCandResponse.aspx

“Retort” is essential for
Fruit Canning

Jam

wine

Vegetable Canning

The battle of Plassey was fought between which of the following?

Sirajuddaulah and Mir Jafar
Mir Jafar and Robert Clive

Mir Jafar and Mir Qasim

Sirajuddaulah and Robert Clive

At the inception of the Constitution of India, the legal age to eligible to vote was -
18 Years
20 Years
21 Years

25 Years

Who is the author of the book “India Divided”?
Pt. Jawaharlal Nehru

Dr. Rajendra Prasad

Dr. S. Radhakrishnan

Vallabhbhai Patel

Who is the author of the novel "I Shall Not Hear the Nightingale”?
Khushwant Singh

Vishnu Sharma

Arvind Adiga

Vikram Seth

78 Amendment Act
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Q.No: 106
A

B
C
D

Q.No: 107
A

B
C
D

.No: 108

o
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Q.No: 109

O 0 w

Q.No: 110

O 0

Q.No: 111 Rabi Crops are grown in which of the following seasons?

A

74" Amendment Act

44™ Amendment Act

42 Amendment Act

Formation of a mountain is caused by which of the following forces?

Diastrophic Forces
Sudden forces
Erosional Forces

Depositional Forces

Mark the correct match of tribal dance and their tribe.
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7441 ARMY STUTTIH
4441 Mo Srfufrm
4291 T=Mee Sifufram

uda &1 i Fefifed & 9 59 99 & SR S 82
Yed fawsuur s

HTHHS T

RS

g

ST I 3R ST STt T Tet e Rifga #31

Lehangi - Kokru qEH — PRE

Bhagoria - Saharias yrifeE - weTiai

Thaapti - Bhils yTedt- e

Karma and Saili - Gonds Faf 3R Fet - Madt

::;;:::::i;he following added a new dimension to food security and emphasised the “access” to food through what he called Frofird & & Rras @ TRen & T T ST Sel 3R 1iroH 9% "gge W SR f, R SR eward Be u
Abhijit Banerjee Sifrsfier sl

Kaushik Basu PIRIE 99

Amartya Sen 3l A7

Jean Dréze i o

Which of the following tennis-players is also known by the nickname “The Ice Man"? Fafafed & ¥ few eha et &t ' IS BT U § o ST ST 32
Jimmy Connors forft st

Roger Federer AR e

John McEnroe S AFRY

Bjorn Borg = anf

The Agra Fort is built of - 3RT 1 fopett fpgept a1 B2

Pink Jaipuri Marble TaTe S TR

Red Sandstone TS IGSHT TR

Granite ITEE

White Marble Hihg HIHTR

Spring Season

& B mud Fefiied § ¥ few A § s e 82
TG Bg
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Q.No: 112
A

B
C
D

Q.No: 113

O N0 w

.No: 114

re)
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Q.No: 115
A

B
C
D
Q.No: 116
A
B
c
D

Q.No: 117

A

Rainy Season
Winter Season

Summer Season

The policy of ‘paramountcy’ was initiated under which of the following governor general?
Lord Curzon

Lord Dalhousie

Lord Hastings

Lord Minto

Which of the following activity is a part of the Secondary sector of economic activities?
Mining

Banking

Fishing

Manufacturing

Under which of the following campaigns did Rajnath Singh virtually inaugurate more than 57,000 water structures in Madhya

Pradesh in February 2021?
Jalabhishekam Campaign
Har Ghar Jal Campaign
Nal Se Jal Campaign

Jal Hi Jeevan Hai Campaign

Since which year was the construction of Fort Aguada started?
1534
1825
1701
1609

Who out of the following captured Gwalior after the Battle of Panipat in 1761?
Jayaji Rao Scindia

Mahadji Scindia

Daulat Rao Scindia

Ranoji Scindia

Which of the following Amendments to the Constitution of India provided that ten percent or more
members of Lok Sabha can requisition a meeting and disapprove or revoke the National Emergency?

42 Constitutional Amendment
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51% Constitutional Amendment 5137 HiAUTT HMeUT
60® Constitutional Amendment 6041 JfaeT J=Ne=
44® Constitutional Amendment 4447 faym F=NY=

A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Who is knocking at the door?

By who the door is being knocked at.
By whom the door is being knocked at.
By whom the door was knocked at.

By whom the door is knocked at.

Out of the given options, choose the most appropriate word/set of words to fill in the blank.
His outstanding performance______ the show.

stole

have steal

have stole

has steal

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice?

People believe that Sneha is a cute girl.

That the people are cute is believed by Sneha.

That Sneha is a cute girl was believed by the people.
That Sneha is a cute girl is believed by the people.

That Sneha is a cute girl has been believed by the people.

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

The boy the ball.

have caught
has catch
have catch

caught

In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.

The purpose of AMRUT yojana is to ensure that every household has accessed to a tap with an assured supply of water and a sewerage connection.

No error.
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B every household has acc d to a tap with assured
(o} that supply of water and a sewerage connection.
D The purpose of AMRUT yojana is to ensure

Select the most appropriate option to fill in the blanks.

Q.No: 123
Globally the domestic cat one of the most ubiquitous mammals.
A am
B is
C had
D has
Out of the given options, choose the one which is the correct active voice of the sentence given below.
Q.No: 124
The assignment had not been completed by me.
A The assignment was not completed by me.
B I had not completed the assignment.
C I had not been ¢ pleting the assig t.
D I have not completed the assignment.
Out of the given options, choose the one which is the correct active voice of the sentence given below.
Q.No: 125
Is a letter written by you?
A Is a letter being written by you?
B Do you write a letter?
(o} Are you writing a letter?
D Did you write a letter?
Select the most appropriate option to fill in the blanks.
Q.No: 126
Indulgence in anything may prove to health.
A repetition
B injurious
(o} outspoken
D veracity
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select ‘No error”.
Q.No: 127

A special commando force are being guarded the famous Catholic Church in France.
Catholic Church in France.

are being guarded the famous

No error

A mmnninl ;ranemamnda fasan
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In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.
Q:No: 128 Economists argue over the vexed question of how to reducing spending.
A No error.
B the vexed question of
(o} Economists argue over
D how to reducing spending.
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.
Q.No: 129
Please turn (off) the volume of the Radio, such that it is not quite so loud.
A down
B out
C in
D No improvement
Select the most appropriate option to fill in the blanks.
Q.No: 130
His success may be attributed to his
A diligence
B colonial
C highway
D highlight
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.
Q.No: 131
Even as a young boy, he (has lacked) the inclination to go outdoors and play.
A lacked
B was lacking
(o} No improvement
D lacks
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.
Q.No: 132
She prefers coffee (to) tea.
A than

No improvement
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Q.No: 133

o 0O ®o >

Q.No: 134
A

B
C
D

Q.No: 135
A

B
C
D

Q.No: 136

Q.No: 137
A

B
C
D

Q.No: 138

for

over

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

The boy on the burning deck.

have stand
stood
have stood

has stand

Which of the following is most correct about a balanced diet?

It should have minimum proteins.

It should have carbohydrates, proteins, fats, vitamins, minerals and fibres.
It should not have carbohydrates.

It should not have fats.

Which of the following diseases can NOT be spread through air?
Conjunctivitis

Cholera

Mumps

Influenza

Tanya throws a ball vertically upwards, which rises to a height of 60 m. Which
of the following statements is NOT correct? [Take g = 10 ms3]

Velocity is zero at the top.

The time taken by the ball to reach the highest point is 5 seconds.

The ball was thrown upwards at an initial velocity of 35 ms! approx.

Acceleration is constant throughout the motion.

Which of the following mixture is burnt to produce very high temperatures and are used for cutting metals and for welding?

Oxygen and acetylene
Oxygen and Sulphur
Oxygen and Nitrous Acid

Oxygen and Ammonia

Which of the following is a process in which water from any source change into vapour state ‘due to heat’?

Humidificatinn
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A [ e

B Evaporation arefieRor

C Transpitation ARSI

D Precipitation T

Q.No: 139 The joint where the neck joins the head is known as which of the following? I8 SIS St e RR @ q@?ﬂ%, Fafafed ¥ 4 52 o5 &2

A Pivotal Joint R W

B Fixed Joint e |fy

c Ball and Socket Joint Hgp-Gfcast |fY

D Hinge Joint = wifr

Q.No: 140 The pores on the surface of leaves which help to take in the carbon dioxide are known as which of the following? ot F Has W AE % o Bre- SEeHTRIES T80 A # Aag IRd ¢, Fafifad ¥ & 59 wed 82

A Cells PIRBT

B Cytoplasm BB 5T

c Stomata Y

D Nucleus Eacd

Q.No: 141 Galvanisation is the process of depositing a layer of on iron. ﬁmﬁ?ﬁﬂﬁ'w @ U IR0 oH] S @ WEhaT ol

A Oxygen Eicsicel

B Sodium Hifsaw

c Zinc i

D Mercury URT

Q.No: 142 Which of the following is the active component of the air? Fofiad & @ 9 ag &1 9fha geh 82

A Oxygen Sifaile

B Helium Siferaw

C Nitrogen quﬂT’Fl

D Carbon dioxide BT SIFIATHTZS

Q.No: 143 Which of the following is not an abiotic component of our surrounding? Fofifead & ¥ $H AR U™ $T 3rifdd g el 82
Soil el

B Air ag

(o] Microorganisms ﬁﬁm

D Temperature GLEEIE)

Q.No: 144 Which of the following is an example of a plant which reproduce through its buds? fraffed ¥ @ S 39 U1 BT IeTeR0T § S St SHierdl & T F Tor drall 82

A
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Q.No: 145
A

B
C
D

.No: 146

o

o 0O ®w >

.No: 147

o

o 0O w >

Q.No: 148

O 0 @ >

Q.No: 149

O 0o W
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Batapeis
Peas

Beans

Which of the following types of coal is called a brown coal among the following?

Lignite
Peat
Sub-bituminous

Bituminous

Ammonium hydroxide is found in -

Milk of Magnesia
Window cleaner
Bananas

Vinegar

Which of the following acids is present in an ant’s sting?

Lactic acid
Formic acid
Acetic acid

Citric acid

Consider the reaction -
Copper sulphate solution (blue)} + Iron — Iron sulphate solution + Copper
What is the colour of the iron sulphate solution?

Black
White
Green

Brown

The Aedes Aegypti mosquito can NOT act as a vector for -
Zika

Dengue

Malaria

Yellow Fever
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Q.No: 150 Which of the following pairing denoting the mixture of gases in air is NOT correct? g # A & o B e B aran Fefifad § § -1 g T T8 82
A O=xygen — 20.09% HTerITaTeT - 20.05%
B Argon — 0.3% T - 0.3%
c Carbon dioxide — 0.033% HTa 5 SHEATSS - 0.033%
D Nitrogen — 78.03% AlSc e - 78.03%
A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series. A2 v Sgen f %, 8w ug qd 31 Ry e fawedt & ¥ 95 TE Rvey g Y oY SIhH Eal T Exdl
Q.No: 151
8, 15, 28, 53, ? 8, 15, 28, 53, ?
A 108 108
B 102 102
C 100 100
D 106 106

In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be ey : - : ¢ : .
Uy H $O &R 3 fSTRI # Teb g B Bled gy AU ¢ ¢ ufersdfad Wi # T 18 31&RT &1 v § 3fiep aR
used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no ﬁmr%% T ¥ Y ¥ U &{&r\qu?[ 7 gm ﬁé f 3% R '%Trq 3 Wﬁﬁ ¥ 77

such word can be formed g|‘ve X' as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the IR E, R o @ @TWWWWW% ATRM T, T 5 BT GERT 38R IR BN
second letter of the word will be the answer.

Q.No: 152 = - == e

g < % / o) C
(\ AB ( \ - ( » l\\ ’ ) ) a J

[ B / HY J
\ \
\\ / .\

A E E
B H H
C B B
D X X
Select the correct combination of mathematical signs to replace * signs and to balance the given equation: * forg &) ufoeifid FxA & R iR Tefiorur & g s & fod 7t e & Ot gH ol T IR
QNow 133 72 * 144 * 72 * 6 * 40 * 110 72 * 144 * 72 % 6 * 40 * 110
A -+ Xxx= -+ X X=
B +++-= +++-=
C =X+ == =X +-=
D X+ +-= X+ +-=
Q.No: 154 Find the odd one out from the given alternatives. fou U faew & faww /e 31 SRR
A QRTW QRTW
B YZBE YZBE
IVNN TWNN
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© P I,
D DEGJ] DEGJ]

. Four kids P, Q, R and S are up on the ladder. P is further up the ladder than Q, Q is between P and R. If S is further up than ¢ .
QNo: 155 ,° L e the third from the bottom? IRTAP, Q, RINSTIA R TS I YT RIWBNIQ PINRRFATRI AR S, PF R IFIW T, I
A S S
B R R
C P P
D Q Q

In the given figure, which number represents how many such advocates are either actor or doctor, but not both? < S apfa #, W fbar Tedide €, S a7 Y VaeR © A1 STaeR §, Qb St T 82
ACIOT ey A Doctor VAT e ‘ﬁ =
ano: 156 A A A A
Advocate wedlche
A 75 75
B 70 70
C 80 80
D 83 83
No: 157 Select the related number from the given alternatives. QU AU [@ehedl # @ @dfdd dEar #1 9T H|
.No:
Q 97:16::85:7 97:16::85:7?
A 81 81
B 44 44
C 55 55
D 21 21
In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be =3 fau g uy ﬁ@@- 3feR T STHRI H U Waﬁ PIed Eqﬁ'qrrq 21 ufcresfed Wi & fau U 3ieRY &1 U ¥ 3 §R
used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no  Saf$ ufodfed YT & STER & TP 3MeR P IUTN Had T IR G{Qf{UfQ]EaT{ﬁ‘ & g fvar ST 21 afe U 1S Weg -
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the JIW X' T, 3R I T SR T Wog SR S Yabell 8, A SR 'M' &, ST g HT G &R IR I
second letter of the word will be the answer.
Q.No: 158 = : p = 9
2 7N : [« (= ) g )
I/ [ \ \l \ \ | |
K1 T | EC ) \ \ J
\ l\ / Y. g i -
~ 2 __f" P
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Q.No: 159
A

B
C
D

Q.No: 160

o 0 w »

.No: 161

o

O 0 w >

.No: 162

o

o 0O @ »

Q.No: 163

Adda

Find the odd number from the given alternatives.
I
Y
J
(o]

Find the missing number in the given analogy:
144 : 1728 :: 169 : 7

2197

3077

2079

2917

V, W, X, Y and Z are five friends. V, X and Z are fond of Mango. W, X and Y like Apple. V, W and Z like Guava. W, X and Z like
Banana. V and Y are fond of Orange. W, Y and Z like Chickoo. Fruits liked by X are

Mango, Chickoo, Guava.
Banana, Chickoo, Apple .
Guava, Orange, Banana.

Mango, Apple, Banana.

Complete the following series:
Mhz, Ngy, Ofx, Pew, ?

Qdv

Rrn

Qrm

Qqn

In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if
they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follows from the given statements disregarding commonly known facts.

Statements:

No Tulip is Rose
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14411728 :: 169 : ?

2197

3077

2079

2917

V, W, X, Y 3R Z O SR 81V, X 3R Z 3 & b= 81 W, X 3R Y I Wi B B V, W 3R Z 3FRee TRig $d 3
VR Y 3RS & HT 1 W, Y 3R z i wiE B §1 X GRI U6e % §-

3, fag, srregl
Fa, g, Yl
3G, AR, FA|
3T, |, HeT

Fafafed saar &1 g1 a:
Mhz, Ngy, Ofx, Pew, ?
Qdv

Rrn

Qrm

Qqn

A 7= & $8 HUF SR IS 918 $B Ay A T 1 U 3T T Hu B I WA R, WA &) 3 I1d 9 ¥ S
Tfeu SR R i R & fmn man & a1 e 71 a2t 31 TR B R HUHT BT IS U Y SFER0 HRaT 31
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Q.No: 164
A

B
C
D

Q.No: 165

O 0 w >

Q.No: 166

O 0 w >

No Rose is Orchid

Only a few Orchids are Jasmines
Conclusions:

I. No Tulip is Orchid

II. Some Tulips are Jasmines

Both conclusions I and II follow
Only conclusion II follows

Only conclusion I follow

Neither conclusion I nor II follows

Find the odd one out from the given alternatives.
Credit card

Debit card

Memory card

Bank card

From the given responses, find the missing letter in the series.

BBD, CDG, DFJ, EHM, __.
FKP
DJO
FIP
FIQ

In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to

GET IT ON
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e
L $¥ e siifds 7l 8
II. $O ST A& §

e 1 3R 11 Y STRRYT P
Fad frswd 1T SRR Fvar §
Fae Fresy I SITER0r ST §
A Y freed 199 € 11 3R over @

fw e fawed # § faww 9@ B
EJREar]

3fe a1

A PTS

¥ 71

fu e faped # A Auft & e steR B §Id B
BBD, CDG, DFJ, EHM, __.

FKP

DJO

FIP

F1Q

be true even if they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, = Y @ BN 5 R o At 7 @ 3 W ey, aR P 2, A R e 9 3

follows from the given statements.

Statements:

Some notes are coins.

No paper is note.

Conclusion:

1. Some papers being coins is a possibility.
II. All coins are papers

Neither conclusion I nor II follows

Only conclusion I follows
Only conclusion II follows

Both conclusions I and 1I follow

FY:
Po e, Ridd 21

F1$ ff AW, e 7 B

foreepd:

1. 7% TR &1 5% g9 3 T 7

11. g4t e, TR B

T A 18R 7 € 11 3gER FaT §
Fad fspY I FEUT PR ©

e frepd 11 3FERT BRal §

Y e 1 3R 11 3R #va &
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A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series. 2t g &t Tl'sc%, o T U?{@?T%I feu U fawedt & ¥ a8 IEt fawe gﬁu St S{IhH Hﬁw x|
QMNoz 167 19, 28, 39, 52, ?, 84 19, 28, 39, 52, 2, 84
A 39 39
B 67 67
C 84 84
D 52 52
Changu & Mangu can do a work in 20 & 30 days. Both together start the work. After some days Changu left the work. The rest work | ] 3R HT] fobelt & &1 20 T 30 AT # &R Tbd &1 T WY B L& B &1 FB ol a1g T HM BIS a1 81 AW HH
Q.No: 168 done by Mangu in 10 days. After how many days Changu left the work. wﬁuﬁmﬁﬁﬂmmm?
A 8 days 8 e
B 2 days 2 f=
C 6 days 6fa
D 4 days 4f
What should comein place of the question mark (7} in the following question? REIRIEREE] ﬁ‘;{w%ﬁ' (q)a; R R A 1B
Q.No: 169 280+ 14 x15+252=72+20% of 125 280 = 14 x 15 +252=72 + 125 Pl 40%
A 25 25
B 30 30
C 35 35
D 40 40

HaAT EEGIRAREE] 0 TS BT {\qir:
Animesh sells two machines at Rs. 396000 each. On one he Gains 10% and on the other he loses 10% His Profit or SZELSET mﬁ;rﬁ N i el mT_ﬁ?r EERTE o
Q.No: 170 BTTeT G &, @ 50 I1 S=1ge 1 S8 A a1 gl Tiaerd e &l

Loss percentage in the whole transaction is:

A 8% Profit 8% wIraT
B 1% Loss 1% gif=r
c No Gain No loss = W o A g
D 1% Profit 1% =T

Anni and Banni at the same time with speed of 40 km/hr and 50 km/hr el Rl o=l A RS s L eieT Y afer 3y e

Q.No: 171 respectively. If in covering the journey Anni takes 15 minutes longer than Banni, URES & &1 3eal el T S 7 doal ¥ 15 e &1 T7T ey ol &1 adridy &eof gdl
the total distance of the journey is: ot g

A 48 km 48 et

B 52 km 52 &

c 50 km 50 &

D 40 km 40 e
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Q.No: 172 A sum of Rs. 16 gives a simple interest of Rs. 2.52 in 2 years and 3 months. The rate of interest per annum is:

A
B

C

D

Q
A

B
C
D

Q
A

B
C
D

.No: 173

.No: 174

.No: 175

.No: 176

.No: 177

6 %
7%

8%

N © = U

Find the sum of digit of smallest number which when divided by 2, 3, 4, 5 & 6 leave remainder 1 in each case.

7

8
5
9

2
If selling price of a bag is — times its cost price, the Profit percent on it is:
=1

160%
60%
40%

120%

The ratio of money with Ram and Gopal is 7:17 and with Gopal and Krishan is 7:17. If Ram has Rs.490, Krishan has-
Rs. 1190
Rs. 2890
Rs. 2680
Rs. 2330

A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any number of this form is always
exactly divisible by ?

11
13
7
101
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3. 16 BT 4RI W 2 9 3 AL BT JUR S 3. 2.52 8, ST Bl <X 8
6 %
7%

8%

N © = WU

g BIT A B Y= & 3! HT INT J1d PIOT B 2, 3, 4, 5 3R 6 T UM 3 R U A & Awwpa 1 o g2
7

8
5
9

e, e o1 1 .37, S AT e 2 A 8, S a7 )

160%
60%
40%
120%

I SR TMUTE & e o T S 7:17 § SR U R H01 F S o7 BT 3 7:17 §1 A& I9 F TN Rs. 490 &, T
Rs. 1190
Rs. 2890
Rs. 2680
Rs. 2330

T IR 3] Bl T B 2 bl P GRIGRT GRT AN T B, S 2424, 1212 AN 39 UHR B Bis f e
fawfora grfre

11
13
7
101
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3brgthers divided Rs. 1620 among them in such a way that the share of secondis equal Arer s 21 3T 1620 T 1 TR 0 Y oy g S Y 3 ) s %WWE oo | Y
Q.No: 178 5 . . ,
to 3 of share of two combined. What is the share of the second one? #1E T e T 27
A Rs. 500 500 31
B Rs. 540 540 ¥0d
c Rs. 450 450 ¥0
D Rs. 1170 1170 31
What should come in place of the question mark (?) in the following question? Fafafad & uyars g (2) & RIF R 1 M A1igT?
Q.No: 179
6+-6=x9+6-9xp6-6+6x9=7 6+-6=x9+6-9xp-6+6x9=7
A 8 8
B 7 7
(o} 9 9
D 10 10
Q.No: 180 Find the largest fraction of the following fractions? et el & 9§ vev st fie 31a sifoe?
27 27
A 72 72
e e
E 23 23
55 55
c 22 22
g 93
20 20
b 57 57
A test consists of a total of 100 questions from three sections QA, LR and VA. All 2 .
questions carry equal marks. QA section contains 35 questions, LR section contains W & A ﬂ?i’lﬂ_ QALR IR YA Tw 1[][? s §1 W Al W 3w §1 QA Fe
No: 1g1 32 questions and VA section contains 30 questions. A student answered 60% from QA # 35 W, LR W & 35 W AT VA FRA § 30 WA §1 06 e a4 QA FRRIF ¥ 60%, LR
Q-Nox section, 40% from LR section and 50% from VA section correctly. Exactly how many FFT T 40% HN VA R T 50% TRaAT 3ol T@eT fGul e 7 38 31 65 9iawid @ e
more questions should he have answered correctly to get the pass percentage of 65% qieierd red S & Tow Thoe 3T WA & oiard ®ET & =i
in the test?
A 24 24
B 15 15
(o} 19 19
D 20 20

Q.No: 182 1n what ratic must a grocer mix two varieties of tea worth Rs.60 a kg and Rs. 65 a kg so that by selling the mixture
at Rs. 68. 20 a kg he may gain 10%?
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e eI el B 60 F04 9Tt femeit AT 65 T4 el Tohell el =1 &1 &1 TEhedl & Tl g & 17
T 68.20 T 970 fohell # a9 ag 10% T o1 F7 Fon?

A 3:2 3:2
B 4:5 4:5
C 3:5 3:5
D 3:4 3:4
Q.No: 183 Find the largest fraction of the following fractions? Fafafaa fisl & 3 Jea 3t i Jra Sifong?
= 146
A 17 17
= 152
B 21 21
c 129 139
19 19
261 261
b 29 29

Q.No: 184 iR # § Wgepd arpy &1 I Hifog-

A TR ¥ S P TR FA BT e
B 3 T e W &

c 95 R mar iR e | s

D S 3 A1 5 Gy 3P B

e 2 ol T o[ @ AR W A S TR (A), (B), (C) 3R (D) HHG UM 31 Suent a5 Iw ¥ A F e wmT A g, Wi, o, W@l F ad wn a1 56 ave @ B 3 o 96 81 i 3R SR o A I et T wmt A € €6 3 wm @ i &
Q.No: 185 Ife I Fexfed & @t 1% e T &1 T Y-

8 1l St /(A) Baa =@ HqE/(B)did 81/(C) 1 3 e (D)
A
B

C

IE e T

o 0 w >

Q.No: 186 T, g 3R 3my ™ GIYAEIS T4 B
A YEYaTa® WM 6L 8

B IqaH

c aeH

D

g

Q.No: 187 F=fIREd & ¥ o< ad=t AT g BT F7 Pifore-
B E
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A IR,
B Jufdas
C et
D THuTfa
Q.No: 188 FEfifaad & & gfi wse o1 997 Fifvme-
A Ygd
B Kk
C Tt
D Y5

Q.No: 189 I% THN g, e STRUS a1 3ifem e we 811 arf Trm ue 1o 8 8k ITRuS 3 W= 8
A g A

B TG T

C qgife wa™

D SqEEYTT FHN

No: 190 FrrfifEad & ¥ fbw dieifa o1 oref “3u=t &1 wrger ugar 82
IR At & 9 3R g 919 g |
TR BT WRN SRTST, 3 g &1 R
R g1 fomt urgal &Y ol ¥
YT s Yast etk sy eraet =t 31

O 0O ®m r» O

No: 191 THH, $H, A9, THTH Ud HaW UG ¥ TR B I S Te) IR0 52
AP A
FqgATa® HI
Sfoarae |3
Hraarde |1

o6 @ >» 0

Q.No: 192 FAfafRed & 9 vEe-g “aF-&m" F et orf Vg &1 797 Pifere-
A fareneff - erwa qafe

B gPe - &g

C Stere - faemedf

D SR - 3TeHaor

Q.No: 193 FrAfRed & ¥ “sRAU[S” o1 qaigard! ag HT 82
A 3ot

anfm
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8 -
c wot
D LG
Q.No: 194 F=fiRed # ¥ “gudRIe I F [TWABR HH 82
A Fae™
B TR
C geritare
D R G

.No: 195 URMATEH T faemafeaitd & Brgsm Tt arpal & oFd & e o ¥ SiF-1 g vgeod g 82
TAAAES e
3R g
R e
quf fRme

O 0 @ > O

No: 196 FfifEd # & e a1 &1 757 Fifve-
3T & 3T W= FAT 997 @ 82
9§ XY 4IS TSI ganll
I TETHR WIS G|
B ST SEIEYE® Fae 21

O 0 @ >» O

No: 197 i & ¥ few getar &7 orf "4 yror 1 82
FAS BT gPHSTI
Far fiesT @ie
HAS TR YqUR 3G

o 6 @ >» 0

e Fal S|

No: 198 frfifed # ¥ “Jywr f5w 79 &1 wrh ure 82
EIR
U
EI
A

O 0o ®m » O

Q.No: 199 FAfafed ¥ ¥ "RevR” e & Iuwf &l
A TR
B R:
o=
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C
D R

Addal2417 S

frafofed & § omed ygaa & et SETeR0 BT T97 Hifor-

Q.No: 200

A gfe quf et RN o waa W st Bl
B H 3y @1 g1 Bl

C JHq ? fp 98 &a Hraw Wg|

D Tig=T TITgem ot & A
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